
10mm x 1

FS042(M6 x 40mm) x 2 4FW008(M6) x

FS040(M6 x 35) x 2 FN020(M6) x4

FT01 x 1

4FW001(M6) x

2PS252 x

PS254R x 1

PS254L x 1

SA070 x 4

SA056 x 2

SA055 x 2

4PS210 x

=3Kg

( 1 : 1 )

ITEM NO. PART NUMBER DESCRIPTION Instructions/QTY.
1 SA067 1700mm Crosstube - Aluminium Bar 2
2 PA199 1600mm & 1700mm Long 2 bar box 1
3 PA192 Leg Housing Box 2
4 PA193 Load Stop Housing Box 1
5 PA194 Bar Housing Box 2

6 SA055 Aluminium Bar Leg Assembly - Right 
Hand 2

7 SA056 Aluminium Bar Leg Assembly - Left 
Hand 2

8 SA070 Load Stop - Aluminium Bars 4

ITEM NO. PART NUMBER DESCRIPTION Legs ins/QTY.
1 PA192 Leg Housing Box 2

2 SA055 Aluminium Bar Leg Assembly - Right 
Hand 2

3 SA056 Aluminum Bar Leg Assembly - Left 
Hand 2

4 SA070 Load Stop - Aluminium Bars 4
5 LA038 Printed Label, Kit Box 1
6 LA110 KammBar Product Label 1
7 C04 Two Lock Barrels with Key KammBar 2

Manufactured by Rhino Products Ltd in the United Kingdom

"JD" 4 Leg Fitting Kit - Aluminium BarsJD2K_c ( 1 of 4 )



M6 x 35 M6 x 40

M6 x 35

FN020FN020

M6 x 40

PS210 PS210

Manufactured by Rhino Products Ltd in the United Kingdom

"JD" 4 Leg Fitting Kit - Aluminium BarsJD2K_c ( 2 of 4 )

1. 2. 3.

4.



Manufactured by Rhino Products Ltd in the United Kingdom

"JD" 4 Leg Fitting Kit - Aluminium BarsJD2K_c ( 3 of 4 )

5. 6. 7.

8. 9. 10.



Manufactured by Rhino Products Ltd in the United Kingdom

"JD" 4 Leg Fitting Kit - Aluminium BarsJD2K_c ( 4 of 4 )

11. 12. 13.

14. 15.



10mm x 1
PS253 x 2

PS252 x 2

PS254L x 1

PS254R x1

FS040 (M6 x 35) x 2 FS039 (M6 x 30) x 2

FS042(M6 x 40) x 2 FN020(M6) x 6

FT01 x 1

FW008 x 6

6FW001(M6) x
SA070 x 4

3SA056 x

3SA055 x

6PS210 x

= 3KG

( 1 : 1 )

ITEM NO. PART NUMBER DESCRIPTION
Legs 

ins/Instructions/QTY
.

1 PA192 Leg Housing Box 4
2 PA194 Bar Housing Box 2

3 SA056 Aluminum Bar Leg Assembly - Left 
Hand 3

4 SA055 Aluminium Bar Leg Assembly - Right 
Hand 3

5 SA070 Load Stop - Aluminium Bars 4
6 LA038 Printed Label, Kit Box 1
7 LA110 KammBar Product Label 1

8 C04 Two Lock Barrels with Key 
KammBar 3

Manufactured by Rhino Products Ltd in the United Kingdom

"JD" 6 Leg Fitting Kit - Aluminium BarsJD3K_c ( 1 of 4 )



M6 x 35 M6 x 40

M6 x 40

FN020FN020

M6 x 30

M6 x 30

FN020

M6 x 35

PS210 PS210 PS210

Manufactured by Rhino Products Ltd in the United Kingdom

"JD" 6 Leg Fitting Kit - Aluminium BarsJD3K_c ( 2 of 4 )

1. 2. 3.

4.



Manufactured by Rhino Products Ltd in the United Kingdom

"JD" 6 Leg Fitting Kit - Aluminium BarsJD3K_c ( 3 of 4 )

5. 6. 7.

8. 9. 10.



Manufactured by Rhino Products Ltd in the United Kingdom

"JD" 6 Leg Fitting Kit - Aluminium BarsJD3K_c ( 4 of 4 )

11. 12. 13.

14. 15.



10mm x 1

PS179 x 2

PS180 x 4

FS040 (M6 x 35) x 4 FS001 (M6 x 20) x 2

FW001(M6) x 6 FW008(M6) x 6

FN020 x 6

FT01 x 1

SA070 x 4

3SA056 x

3SA055 x

= 3KG

ITEM NO. PART NUMBER DESCRIPTION
Legs 

ins/Instructions/QTY
.

1 PA192 Leg Housing Box 4
2 PA194 Bar Housing Box 2

3 SA056 Aluminum Bar Leg Assembly - Left 
Hand 3

4 SA055 Aluminium Bar Leg Assembly - Right 
Hand 3

5 SA070 Load Stop - Aluminium Bars 4

6 SA064 1420mm Crosstube - Aluminium 
Bar 1

7 LA038 Printed Label, Kit Box 1
8 LA110 KammBar Product Label 1

9 C04 Two Lock Barrels with Key 
KammBar 3

Manufactured by Rhino Products Ltd in the United Kingdom

"JA" 6 Leg Fitting Kit - Aluminium BarsJA3K_d ( 1 of 4 )



PS180 PS180

M6 x 35 M6 x 35

M6 x 35

FN020FN020

M6 x 20

M6 x 20

FN020

PS179

Manufactured by Rhino Products Ltd in the United Kingdom

"JA" 6 Leg Fitting Kit - Aluminium BarsJA3K_d ( 2 of 4 )

1. 2. 3.

4.



Manufactured by Rhino Products Ltd in the United Kingdom

"JA" 6 Leg Fitting Kit - Aluminium BarsJA3K_d ( 3 of 4 )

5. 6. 7.

8. 9. 10.



Manufactured by Rhino Products Ltd in the United Kingdom

"JA" 6 Leg Fitting Kit - Aluminium BarsJA3K_d ( 4 of 4 )

11. 12. 13.

14. 15.



2FS109 (M8 x 90) x

2FS105 (M8 x 55) x

2FW021 (M8) x 6FN039 (M8) x

2FS110 (M8 x 10) x 2FS103 (M6 x 25) x

PS201 x 2

2PS202 x

4PS203 x

2PS204 x

2LA074 x

13mm x 1

5mm x 1

Manufactured by Rhino Products Ltd in the United Kingdom

Fitting Kit for KammBar Rear Roller SystemFK202_c ( 1 of 4 )

• 
' ' 

I 11 i 11111 r 111111111 I 1111 :i 1111 ; 1111 i r 1111 r 11111 

1 



Manufactured by Rhino Products Ltd in the United Kingdom

Fitting Kit for KammBar Rear Roller System ( 2 of 4 )

1. 2. 3.

4. 5. 6.

FK202_c

= 

~--~ 

48mm - 75mm = FS105 (MB x 55) 

78mm - 105mm = FS109 (MB x 90) 



FW021

LA074

Manufactured by Rhino Products Ltd in the United Kingdom

Fitting Kit for KammBar Rear Roller SystemFK202_c ( 3 of 4 )

7. 8. 9.

10. 11. 12.

--.. 

.......... 

I 

t 
' :::::8Nm 

c ___ =-=-

ii 

'
- - -~====-=-= 1-=-=--=--=--=--=--=--=--=-===::~_~..:--:_-■- ■ •u • -=--=_:~:.:.~:-=-:;::;:-.. ---

-::::_._•-.,•-• • •• •• 



Manufactured by Rhino Products Ltd in the United Kingdom

Fitting Kit for KammBar Rear Roller SystemFK202_c ( 4 of 4 )

13. 14. 15.

16.

==10Nm ==8Nm 

/ 


	Sheet1
	Drawing View1

	Sheet2
	Drawing View5
	Drawing View7
	Drawing View10
	Drawing View13
	Drawing View15

	Sheet3
	Drawing View11

	Sheet4
	Sheet5
	JD3K.pdf
	Sheet1
	Drawing View1

	Sheet2
	Drawing View3
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View13

	Sheet3
	Drawing View11

	Sheet4
	Drawing View12

	Sheet5

	JA3K.pdf
	Sheet1
	Drawing View1

	Sheet2
	Drawing View3
	Drawing View8
	Drawing View9
	Drawing View10

	Sheet3
	Drawing View11

	Sheet4
	Drawing View12

	Sheet5

	FK202.pdf
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet3
	Drawing View5

	Sheet4
	Drawing View6

	Sheet5
	Drawing View7



